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log,(a x B) =log,a+1log, f =5+3=8
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log, (a® + B?)
= log, a® — log, B2
=3log,a —2log, f =3X5—-2%Xx3=15-6=9
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sin 15° — sin 75° = sin(45° — 30°) — sin(45° + 30°)
= sin 45° cos(—30?) + cos 45° sin(—30?) — {sin 45° cos 30° + cos 45° sin 30°}
= sin45° cos 30° — cos 45 sin 30° — (sin 45° cos 30° + cos 45° sin 30°)
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1000000 + 1.01° + 1000000 = 1.01* + 1000000 + 1.01% + 1000000 + 1.012 + 1000000 + 1.01

1(1—1.01%)
— 1000000 X (1+1.01+101% +101° +1.01%) _ 100000 x —L=101
1.01° 1.01°
5.101005
= 1000000 x ——==-=- = 1000000 x 4853431 = 4853431
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